
1,   109,0R - 104,0R + 9,4T = 14,4P 14,4 Punkte

2,   109,0R - 104,5R + 10,7T = 15,2P 15,2 Punkte

3,   109,0R - 103,0R + 16,4T = 22,4P 22,4 Punkte

4,   109,0R - 102,6R + 17,4T = 23,8P 23,8 Punkte

5,   109,0R - 98,1R + 13,2T = 24,1P 24,1 Punkte

6,   109,0R - 105,0R + 23,2T = 27,2P 27,2 Punkte

7,   109,0R - 97,8R + 16,4T = 27,6P 27,6 Punkte

8,   109,0R - 103,8R + 23,1T = 28,3P 28,3 Punkte

9,   109,0R - 105,7R + 31,7T = 35,0P 35,0 PunkteFISCHER, Gisela

NUSPEL, Ernst

CHRIST, Marianne

MARSCH, Günther

EISCHER, Erwin

ZAHN, Werner

SCHENK, Adelheid

HUBER, Reiner

Punktscheibe Senioren aufgelegt

DSB-Berechnung

REITER, Ernst

9,   109,0R - 105,7R + 31,7T = 35,0P 35,0 Punkte

10,   109,0R - 105,3R + 32,5T = 36,2P 36,2 Punkte

11,   109,0R - 99,7R + 30,2T = 39,5P 39,5 Punkte

12,   109,0R - 104,7R + 39,2T = 43,5P 43,5 Punkte

13,   109,0R - 96,6R + 31,3T = 43,7P 43,7 Punkte

14, 109,0R - 103,7R + 49,9T = 55,1P 55,1 Punkte

15,   109,0R - 102,1R + 49,5T = 56,4P 56,4 Punkte

16,   109,0R - 101,1R + 50,7T = 58,6P 58,6 Punkte

17, 109,0R - 100,3R + 50,5T = 59,2P 59,2 Punkte

18,   109,0R - 93,7R + 54,0T = 69,3P 69,3 Punkte

19,   109,0R - 102,0R + 66,5T = 73,5P 73,5 Punkte

20, 109,0R - 101,0R + 65,9T = 73,9P 73,9 Punkte
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